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+ Check T % well~defined:

Ldbi= £(deb)= (Fh)b. = (fd, fb) € F(D)
+Check F ® o cowviant fwmctor:

T DD 1) (dode) = (1ded,, 1o d) = (0, o) => F@dp)= Zd

For D-5p2p7 F(9o8) (d, ob) = (s§d. . 3Fds)

(@) -HE) (4,0 = F8) (£, fd)=(3f e, 9 )
*Supprse Fis repesentable. Then 3 CEC st T 25 Home (C.—).
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* F(O) > Home (€.C) = T (¢, ) €F(CQ) ie.
BEoC,8,S( st Cb=Cabe

. VDEL, Fly)2s Homy ) =3
W(d d)eF(0), te g5, B D sk dhb=dhiby
W CBD stodi=Po (o t=12)
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- Check —on 13 one—one.
&ﬂ»&a Lor= —onm —Fw SOML “F% C—D.-
IF {u & SaJcB][)Z) the stme bmiuevmﬁ A——F
popy o €t fi=4
Note ot f = ;= §o(70elo)= Do Ttelo=Focs N
Stimilanly, £20= .0,
Dekine 2 Loc,= Toec, .2 feco=fheCa
Then b = [Fc)ob,=fon) «(leb) = (Fror) o lusba)= obibe
CBythe upof 0, A1 sk Poci=da, Poc=d,
Sinee ., L. both sa‘ﬂ“ﬁ-% The wp. oy ¢, fi=1..
* V fir €Tml-%) with fe Homy, (C, D), we have
Jorobeby = FoCoby = 1o Coba= freluba
C dppose § € Hm (B, D) st Golubi= Jolab.. (Mo womnct o show
e Tnlo), ve. 3 F cHome(C,0) 54, 3= g
Aﬂ__,JZ'_,_ﬁE, Deﬁwz, o, = 3L,
“ dy= 9ol
Then db=3Lb1= 9, ba= db,
0 the up of C, 1§ st
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=" BO Remeok 9.6, Pﬂ‘(}*“ 8, it su{fices to check (3.c) 7—"@&@«”(1‘3:&9).

e W peove . A/»B% C—>0
Q g w5y Lk A
® Y B-LX st hef=0. L
TR C—>x st Reg=h.
o O, HOMC(C,X):%HOWT: (B.X) > ﬂnj,}ano( thus one-ong W Ab
= g suri.
For @) hOF:O = hé&Ker ('°'F): In(=3)
= I he Homg (C.%) st h=Teg
—I B = K »ungue.
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let O— Ai’ B*‘"C —0 be any short exact sequiencl in A, we want o
prove F(A)@)F(B)m) F(c)— 0 1 exact.

% Remask 9.6, Pogxz g, it sutfices B show (Floy, Flo) = CokM(F(é\)%C) F(‘g))
te. b prove O F(9) 3 sur FU\)F(“D) F(%)E@" F(C
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B £ (h) «e—1 h Qre gT nom. So %ng
’ J/ :[ l \L—°F@)
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= 33 €t (C.G(0) s+ box(=3-9
J—Qt k: ?C,x (3) - 7}15“\
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Box(h) —— h 7
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A ’—b—‘%B, By wp. of CREY, prove =7, W suffices
b»i it\ b0 ?Y’o\)e bz e, and Aola=Cs
g, —2>F By inkiy D=C, we get

x N Idcoﬂob(b.:&ldcoxom,
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